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X~N(.5,02°) P(X>a)=0.235
P(x<a)=0.765 ..a=5.64
M ~ N(420, 10?)

a
b

a
b
c

P(M<a)=025 . a=413

P(M<b)=09 . b=433
X ~N(502, 1.69)

P (x < 500) = 0.106

P(500 < x < 505) = 0.864 or 86.4% <3~
P(x<b)=0975 b=5051 a=498.9
a=499 b=505

X ~ N(550, 25%

a
b
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P(520 < X < 570) = 0.673

P(X>a)=0.1 ~P(X<a)=09 - a=582
X ~N (55,15, P(x>d) = 0.05,d = 79.7
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1. [7 marks]

The heights of adult males in a country are normally distributed with a mean of 180 cm and a standard

deviation gf 0 €. 17% of these men are shorter than 168 cm. 80% of them have heights between

(192 — h) cm 44 192 em.

Find the value gf h.



2a. [1 mark]

The random variable X is normally distributed with a mean of 100. The following diagram shows the

normal curve for X.
- =g

TN =i

R

>
S

Bty

Let I be the shaded region under the curve, to the right of 107. The area of R is 0.24.
Write de(X > 107).

2b. [3 marks]

EpdPA00<X <107)  » S, 4=, 3

2c. [2 marks]

Find P93 < X <107) S, QL +0 Al = O,Sa\



marks]

-andom variable X is normally distributed with mean, /. In the following diagram, the shaded region

tween 9 and H represents 30% of the distribution.
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3b. [3 marks]

The standard deviation of X is 2.1.

X6

Find the value gf M.
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3c. [5 marks]

16k
JP(X <9) 0,56 5,30 = 0.

2= S
_3R19 :éL(-M\

The random variable Y is normally distributed with mean A and standard deviation 3.5. The events

X> gandY>9@t,mP((X >9)N (Y >9) =04 = p4<>q§.P(V>‘(")

Eind A.

3d. [5 marks]

0.4=0.8- BLY>9)
P(Yﬂ):@f_—:?\\

Given thatY > 9, find P(Y < 13). x: ?



